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(WD wHmD e e / Tamil & English Version )

& jara] : 3.00 wanfl CHyb | [ Qurgs wHUCLGEmsET @ 70
Time Allowed : 3.00 Hours | - [Maximum Marks : 70

QDleyemrast : (1) magg elamssEsd slursl uHeard edarsr erarugenan
sflurisgé Qsrearare b, Faiufaler GepulpLben, 2ems
sansTaniuureTflib o L anquirss Gsfeilssa.

2) Beob @awg &mUY owvWea LLAGCL TWEHMEHELD
2 EGsT Heush@h LweauBss Ceuam(b. UL RIS cuenTeusnHE
Quendle LwETUHSSELD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

GOy : Caeveuwren G S UL auenplbg, SLEUTHEMET T(PSELD.

Note : Draw diagrams and write equations wherever necessary.

U@S) - I/ PART - I

GOy : () Semersg amss@psEh el welldsaib. 15x1=15
() Osr@ssuul(Berer wrHm eoLsalled Wseb Hye LW
e emng Carbos®ssis GMEHLe elenuleanb Cerga
TS LD.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and-
write the option code and the corresponding answer.
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QuTSSIS :
(1) yemler )  Howerer 2 Cars Swallsamer sarHlsd
(2) Cumryréen (i) eualenn W& salgCardn &yeufl
3) siguilailwb (i) sTOCsrmanse erfl s &b 6l
SmenrLL (heug)
(4) &eoum iv) <gls ereiled sTaTULED Sl
(1) (W), @), BH-v), @)
(<) (-, @-G), B)-Gv), (-G
(&) (W-Gv), @), @) 4)-6)
™) (-G, @-Gv), G-, ()G
Match the following :
(1) Fluorine (i) Identification of coloured metal ions
(2) Borax (i) Strong oxidising agent
(3)  Aluminium (i) Chalgogens Present in volcanic ashes
(4) Sulphur (iv) Most abundant element

@) (D)), 2)-@), 3)-(v), (4)-0)
(b)  (1)-(), (2)-(0), (3)-(iv), (4)-(iii)
(€ (M-(v), (2)-(iid), (3)-(id), (4)-()
(d)  (1)-(), 2-(v), (3)-(i), (4)-(iii)

2 @wurewl grgime Geuarafiusasdeld Qmbg UNSEA50&EG0L e :
(=) Barampgl Gflly apenp () 2OEEED

(@) smhfldwns Gpdld apdsd (T) wpSsD

Wolframite ore is separated from tinstone by the process of :

(@) Electromagnetic separation (b) Smelting

(c) Calcination (d) Roasting

+3 gsalgCamn Hammw @D darar@der QoL flaans saflob -

(<21) Ni (<) Mn (&) Cr () Sc
The transition element which has only +3 oxidation state is :
(@) Ni (b) Mn (© Cr (d) Sc
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wOhbEsaer  grorag  Seuppler 1q. L1165 L) 6

SeraflLiu@ g

(<=4) wpselfCumev (<) Cared®) eretr

(@) WwmHETES 6rewm () @wblena wrhled
The medicinal value of a drug is measured in terms of its :

(a) Deoxyribose (b) Gold number

(c) Therapeutic index (d) Equilibrium constant

Gemguibd SurtGul, siefldaflun Gtearreny® wHmd QU Lrflwibd swemar®
dweupdler Brsmrsaser wpapGu :

(<=1) =bled, 2flew, e (<2},) Siblevtd, 2ibleLd, STTLD

(@) smrb, Siflew, sTFD (rr) smyw, pHHme, ST

The aqueous solutions of sodium formate, anilinium chloride and potassium cyanide
are respectively :

(a) acidic, acidic, acidic (b) acidic, acidic, basic

(c) basic, acidic, basic (d) Dbasic, neutral, basic

DNA -afleir g5 @enpuwimrang ‘ATGCTTGA” eregid &y euflensani QubmieTearg
erafled ygenm Byl @enwpulen sy cuflens :

(<) TACGRAGT (<) TACGAACT

(&) TCCGAACT (F) TACGTACT

If one strand of the DNA has the sequence ‘ATGCTTGA’, then the sequence of
complementary strand would be :

(a) TACGRAGT (b) TACGAACT
() TCCGAACT (d) TACGTACT

eseu(meuameummieT 6Tl &S STHSaTeniow|enL g ?

(=1) 2, 4-eCrrCGor afidenr (@) 2, 4-eL@GGarrGrr 2jafleSan
(@) 2 4-eoLQuwsdled iaflelen (/) 2, 4-enLenpl Gyr el eSer
Which one of the following is most basic ?

(a) 2, 4-dibromo aniline (b) 2, 4-dichloro aniline
(¢) 2, 4-dimethyl aniline (d) 2, 4-dinitro aniline

[ $l(mLliys / Turn over
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Qereupid eflevar oy araseuatay LurgGL BeanGamiLb CamaiuGh ?
MnO; — Mn?*

(1) 7F (<24)5F (@) 3F () 1F

How many Faradays of electricity are required for the following reaction to occur
MnOj, — Mn?* ?

(@) 7F (b) SF (c) 3F (d 1F

SaDm) : p-N.N-aLQwsdé o8 CanirQuensragaman® @ueramuder
GuEs clomasE o L u@dng.

SMEWILD : <p@g@man® (-CHO) Asrgdurang Qi LT SOmULESSID
CgTEHwneib.

(<=1) smDEI, STTEWID Gran®n seuny

(%) SaDEI, SnrewId GreamGd f, Coaib srreamd sgapdlparer sflwmer
eSleTésLmELD

(&) smbmi, smrewnd Qran@in &f, sryemd sppsrear sflwurar efNaTésL0oH

() &mpmi &M pemmed snyewd soumy

Assertion : p-N,N-dimethyl aminobenzaldehyde undergoes benzoin
condensation.
Reason : The aldehydic (—CHO) group is meta directing.

(a) Both Assertion and Reason are false.

(b) Both Assertion and Reason are true and Reason is the correct explanation of
Assertion.

(c) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.

(d) Assertion is true but Reason is false.

wigsemiaiue sramrliLiheoug) :

(1) Qe Cablliy sever

(<) erfl@ummer W6nEe6

(@) ursye ulLar Wer Cadlliy saen
() asHwd Swedl Wer Calliy swe
Laptops have :

(a) Lead storage battery

(b) Fuelcell

(c) Mercury button cell
(d) Lithium-ion battery
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11.

12.

13.

14.
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amanuiGurenpL e wyfledHer eumiiiumg
(<) HOONO (<25) HoNLO5 (@) HNO, (rr) HNO,

Formula for hyponitrous acid :

(@) HOONO (b) H,N,O, (c) HNO, (d) HNO

efldedlwibser QgmELiy wepuded e Qg FFHeny 2(HaursEG 0 ehlenem,
i UR

(=) eredLymen seu uHSL(H elener

(<=4,) S\1 elenen

(&) Sn2 eNener

() ere&Lgren seu Qummear Cardens elanar
Williamson synthesis of preparing dimethyl ether is a/an :
(@) Electrophilic substitution reaction

(b) Syl reaction

(c) Sp?2 reaction

(d) Electrophilic addition reaction

bee Si0E Sl g sraTiu@D Qeupd sdler sgeigb :

(<=1) 26% (<=1,) 48% (@) 23% (rF) 32%
The vacant space in bec lattice unit cell is :
(a) 26% (b) 48% () 23% (d) 32%

om damaule camaru@Aur@eaiar Aeflaurag i geauss areile
sfurduns GopausHGd Comeutu@BL &row aruiBieg) :

(1) &mjmw@ sreLd () poed e cuena

(@) yBw ellenar cums () QuawLmb eflener cuens

Time required for the reactant concentration to reach one half of its initial value is
called :

(@) half life period (b) first order

() zero order (d) second order
[ Hiiys / Turn over
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280 K Qautiufleneouded, Semmed, i H,50, 2 Lar elemaruL({ flenL_&@GL
waSw eflenar@uim(mer

(<=1) sraldlells 2bleuid (=) 95Ms 2Lled

(8) o-lammed saCurafls o () p-Sarméy sGunafls 2ybled

The major product obtained when phenol reacts with Con. H,50, at 280 K is :

(@) Salicylic acid (b) Picric acid |

()  o-phenol sulphonic acid (d) p-phenol sulphonic acid

LGSl - 11/ PART - 11

&Iy : aCseb o laméserie eflemwaléseab. eflem e 24 -&@

sLLmuwons eflenweflésab. 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.

16.

17.

18.

19.

Feneud grem ereueurm sWhEsiuBdmg ?
How is bleaching powder prepared ?

bipsarand saflohismer d-Qsn@d wHmb f-OsTES eTar aumsILBESS.
(i) Lmevien (ii) msHeflwid

(i) yCrmigdwid (iv) geme e aflwild

Classify the following elements into d-block and f-block elements :

(i) Tungsten (i) Ruthenium

(iii) Promethium (iv) Einsteinium

CrCly-6H,0 -eretip epavddam eumiium’ iy eneand Qsrer sieneanald Gafmosden
gGasaynd Qran® FCrom wrhHilukismar erpss.
Write any two hydrate isomers of the complex with the molecular formula CrCly6H,0.

Apwrad Qurdps Csramusellar araraflsms 6 aafld o marEn eamwd
O Frevepd QeupMrfugelan cranafsmamus samrsd(Hs.

If the no. of close packed sphere is 6, calculate the number of Octahedral voids and
Tetrahedral voids generated.
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20.

21.

22,

23.

24.

GOILY : gGsed Ml arréaens@ oL wealsseb. e e

sL_Lmuions ellenwafléEsey.

Note :

25.

26.

XIl - MARCH 2020

anid Sifleokisd wHmb sTrhsd aanprd cratar ? @abauraThib@n @i

T(HSgHEET(H FHMHs.

What are Lewis acids and bases ? Give an example for each.

QeugmGewrufer sremriu@b WNes oL sib wpmb Gles Hloaeambamw

T(DEIS.

Write the dispersed phase and dispersion medium of butter.

Grreen el @®ss eloanid LwuaL@SsLLGL MaaCas Wi Bl uSl et
Quwenyd GHIAH e wpafusgeusas aBHSSwbLS.

Name the catalyst used in Rosenmund reduction and state its importance.

@G}mrr(ﬁl;rrnﬁlésrﬂeh ereueurmy swrissLu®Spg ?

How is chloropicrin prepared ?

rgflan C—O—C Wenamiiy Gamanid prenpdl Gepemriy Caremnseng el OO

HD. e ?

Why is C—O~—C bond angle in ether slightly greater than the tetrahedral bond

angle ?

L@d - 111/ PART - 111

& 33 -&
6x3=18

Answer any six questions. Question no. 33 is Compulsory.

&Crmeawd GGamey® Cergamaral eT(RSI%.

Write the Chromyl Chloride Test.

[Sc(H,0)g** - Hipwdpgl - eSlaTé6Es.

[Sc(H,0)J** is colourless - Explain.

[ Hus / Turmn over
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27

28.

29.

30.

31.

32.

33.

X1l - MARCH 2020

QanarL_fean FLaTUTL L al(heilése, L.

Derive Henderson equation.

e Carsmsdr eraiaurm erdirqpeanar Lrg sy pen oW wwart G52
Sifgsalledmbg urgesrésLUBSng ?

How are metals protected from corrosion by cathodic protection method ?
1Demeu(Hd Fnlplog gisaTaetlan cugeuhismens GHLIHS.

() As,S,

i) Sefln Carad® Fmpw samysd

(i) LieDigd I FlpLD SrEe

Mention the shapes of the following colloidal particles.

()  AsyS;

(i) Blue gold sol

(i) Tungstic acid sol

urifé 2fleb, Lrweaey srafowu @OsEdns <wamd Afliys Siblan
LTeerey sranfleni Hi&@Geudleren. &TrenTd dnmis.

Formic acid reduces Tollens reagent whereas acetic acid does not reduce. Give reasomn.

UCrmieafler emwlienus Qurmss ereuaurm auamasliuBSSUILIL (ReTaTar ?
edleT&Es.
How are proteins classified based on their structure ? Explain.

2 awTa|d Fal () Qumrmlsaflamed @ r@ perenwser gGse b epeTens
Fo 5.

State any three advantages of food additives.

sifialwusHelmhg srelub ey, Siwallurggn erangmalq GMmeurans
1058 Gonhs ierGeu TNILGEDE. ger eran ellatées.

There is only a marginal difference in decrease in ionisation enthalpy from Aluminium
to Thallium - Explain why ?
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LGS - IV/PART - IV
GDILY : Semensg cNamssEréED oflamwaésayb. 5x5=25
Note : Answer all the questions.
34. (1) yesgnienowrssad gpenulenear eeufdsaLb.
{6060
(=) ) sy Qsripraspd ﬁas%geugma;n‘arr gCGsad @Qreanh
Bupgseneansmar 6r(ps)s.
(i) sewranrmg LT 13 dsafld HF -5 Callés Queng). ger ?
(a) Explain zone refining process.
OR

(b) (i) Write any two conditions for catenation.

(i) Why HF cannot be stored in glass bottles ?

35. (34) () solyren fleob wLHRWL wWITagd WG e AP sam
aumiuur’ yeer erpd seudlen cuigeualiblanes cuenys.
(i) Spsaremid symaneys Caiwsder [UPAC Quwflenar er(pgis.
(A) [Ag(NH;),]* (B) [CO(NH3)5C112+
IEXNVE |
(=) () [CoFy]?~ erenm yenamray Gemngdlen smhsLSTL WHMID &THS S(HLIL
Hoemens sasd(Hs.
(i) < SQriasd Ganur® ubd @GHiy wuears.

(@) (i) Write the molecular formula and draw the structure of sulphurous acid
and Marshall’s acid.

(i)  Write the IUPAC name of the following :
(A) [Ag(NHg),]" (B) [Co(NH,)sCIJ2*
OR
(b) (i) Calculate the magnetic moment and magnetic property of [CoFy]>~
(i) Write a note on Frenkel defect.

[ $lgpliy& / Turn over
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(1) A-eflenen@uirayer ereny (psdasans oflaardsran GpTeapsILBEHLIUL
Geus aOHuQemen auqnedds,

D106V |
Spseranid Qurmlsaflarn pH whiiemu 6ripsis.
(A)  edlaflsim (B)  s@®rsrl
(C) sewwelarLmr (D) Gamiybir

R Blens L5516 saafle o_erar @)yanr(p) e i Lo m@mmmtmmﬁ
@eLuulL g 1.5 Qe.8. geueuray Wlemupenerullen CIEICS
LFOLD 4.5 8688, erema. 0.5 N Wenu@efls senyaayshd lenmagans
vweatu®SS sarLBlwiul L Weange wiiy 15 s eredlen,
sengsedlan Bl sLggi5 e whlienus srans.

(a)  Derive integrated rate law for a first order reaction A—product.

36.
(<) ()
(1)
(b) ()
(i)
37. (=) ()
(i)
(<) ®
(i)
@ ()
(i)
(b) ()
(i)
A

OR
Write the pH value of the following substances :
(A) Vinegar (B) Black coffee
(C) Baking soda (D) Soapy water

A conductivity cell has two platinum electrodes separated by a distance of
1.5 cm and the cross sectional area of each electrode is 4.5 sq.cm. Using this
cell, the resistance of 0.5 N electrolytic solution was measured as 15 ohms.
Find the specific conductance of the solution.

Gaudluiymingliy &HEUT Feb LHmw  Qupyplurly
sauis@isdaLCuwrer Caumur@saiad oCaabd apadaads sms.
Qruur 2 e’ L6 (UEESMmETUTESm) cTemmTed eTaes ?

YNV
Semmellen @enemriiLy eNevanepw H(ms.
Afsemi® srefleows LwaTLBsE Spssreamuaeunamn ereueumn)
gwriliumd ?
(A) yrouer-1-9,6 (B)  yruuer-2-2p6
Give any three differences between chemisorption and physisorption.
What is Vulcanization ?

OR

Give the coupling reaction of phenol.
How will you prepare the following by using Grignard reagent ?
(A) propan-1-ol (B) propan-2-ol
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38. () (i) ooumiedlen ereviigy wirg ? D{GEN LIwlen wng ?
(i) HevarsGaradliyd Nenewrii eremmmed eremenm ?
9| 606VG)
(=) () SmDQUTE elevar erammmed erean ? aflans .
(i) A wHmb B -5 sewr_fs.

A Na(Hg)/CH;OH
4[]

» CH3—CH,—-NH,
Na(Hg)/C,H;O0H
4[H]

(@) (i) Whatis Formalin ? What is its use ?

(i) What is glycosidic linkage ?

B

? CH3—NH—CH3

OR
(b) (i) What is Gomberg reaction ? Explain.
(i) Identify A and B

A Naﬂiﬁl/H%HsOH ~» CH3;~CH,~NH,

B Na(‘*gfifﬂ‘éf”fvo“ ~» CH3;—NH-CHj,

-000-
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